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Set A

I nvom- e 3% TREDFR ) ?
- <24 BAMFh Chi-5 DFFE®
Ans ' B

2. HUARBPEAHEPEBLE TR LEE o B PE S B4

Ans @ 2 %% nit piqi / F34 gu zhi, /7 3 jué jiang)

3. RABEEZIERFLIERRR 2 p  F-HHAELEIHT T FELY 8P &
HAp 30
ns @ > XFW

4. FRIRAAEFLE32014 28 31 peibz s AEAEFREFIERLAE Y 50
BAwE?

Ans: 4 B

5. 20144 A E L

et RE T4 izl behd ko S E TR GBENE kT
a’n—. m\ﬂa‘:}vg—ﬁgﬁ)@zé\‘;’lo

Ans : gy HERT o F ) I AR

6. MTFUR- BREEIHITLY

AL g 2 3 p i
2 3 4 3
Ans: C

7. Spell the word ‘thunderstorm’.
AnssTHUNDERSTORM
8. - A LB AvR- ERE?
Ans: 1914
9. FLEFETIFBEL (M0 ] -4 ¢ L7 By Rt ?
Ans: P g
10. B4F B HMR2 20142 12088 > FRNFELR ZBhbiEie- B o

Ans: & F% /A~ 5 /BB



Set B

1.

10.

- g 3G T RS L SR 0

A FF3EZE B-31s CHrds DEHFR LR

Ans - D

TR R T R AP SRR A
<P E L]

Ans @ 3 % gézida, B+ kuaitéuda,/ + B %2 da ger)

TS &t T0 A R 2 g B B DT R ) AT B 8RRk 0 R B SRR ALY A 2

Ans: 2 % %

IR (T iR d o Tpsez A le ) B 0 B P T EFGIED P R RIS B g 2 p

17]2‘#! ng‘— LR TR — l"'g ﬁ 9
Ans: PP L 2R/ Eid 2L/ R R%

2014 £ L B Aol g h- T AR A LW AL B R EEEL > Wl H A

Ans: 5 3

T R— Bk FEiT 07

A 1% B. 0.1 C. % D. 0.1%
Ans: D

Spell the word ‘lightning’.

Ans: LIGHTNING
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Ans: 7 & F]
CREL L B2 Ao g0

Ans: ¥ &P
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Set C

. m7oi- e 33E5% T2 L g Ffepe, ?
AFrvids B CA @ D FHEF
Ans : B
2. FHUARAFFEEPFI RN TRAETF  BFF A
FIS[AF A ]
Ans @ BB mo ceng,/ % % % man tin tun)
3. RFBABGZEH D AREAFERIE R 79
Anst g (RATAEALE)

4. B FAME LR Rk XA EL P 2 Lo P RERGRE R B § TR

(e
Ans: # ~ A BFHAE /P B/ FH A

5. 2014 & 127 > BRERF iFE € ATNBRTFE ?
Ans @ f48

6. MTFVR— FHchIET 107

100%

A. 100% B. C. 100 D. 1000%

Ans: D
7. Spell the word ‘earthquake’.
Ans: EARTHQUAKE
8. WRIABLF - XLR AR FELNRE - GHREL - BRFE P A2 R?
Ans: # i
9. THERG, CEFLELEL AT BPAFL?
Ans: % 7P

10. FHEABBIN A AT v BB T2 EITR e ?

Ans: & & #b



Set D

1.

10.

T R- B 3P AR '—%ﬁifﬁ%ﬁfr“s peoy?
A¥iw 4 Bagzc
Ans : A
FURE AR L TR AR
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Ans @ =
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ns: %k~ @ R~ L%
"d £3E ) P B S B E S BT w4

R RGP R 7
Ans: B & ~ 20 (B L)
2015 & 1% > ST REHUR R L3 A

Ans: %} ;T*u%?

TR~ B Bk 43T 0.1 9

A. B.

1 1

8 9 S
Ans: C

Spell the word ‘typhoon’.

Ans: TYPHOON

FoZE R AR RY o FRA

2 g4

Ans: £ %

e AR P YR B oz g ?
Ans: R§ /& R
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EH-T AR A EEAe L E E?

AT 324 mE  Brrsk C. &4m¥ D. #lig#%

Ans: D. %% ¥

FHEERTH AN LNE R FIES Ban o K HIERIEA LI OB RBRFER?

ANS: 7 &

ANS: 50

EEAL - FPI- E Ao 2 R TR Y
A. 1997 B. 2001 C. 2006 D. 2013

ANS: B

EHA - S 2014 & 90 28 P SRATor w TEY BT F b UK
A. 57 B. 68 C.74 D. 87

ANS: D

TR AES B A BAFERE TES > TLL P FATEZ - B RN

-

ANS: & 3 L
ERE - TG EB L AATR AN F BRI ?

AFiF  BEE  CE¥  DEHM

Ans: C
PR REN G EaerE LY R T EFHT 0 TBAT R ER AN 2T KR
R AL - TEER

Ans: 500 &~



9. FehEidptit ko R FEEZZE2MRA AL AN P FI AT EE > NP EE T

R R A
Ans: 47 &
10. iEH4L-2014 & I ~ 5L TR WM(APECAT 4 gk e RIBH D B (7 7
A% B B.} 4 C. B D. #x
Ans : D

1, EEAL- R - B S H S & AR EERNRE > - L L~ et

A P AP P ET e HE  FR RS £ B2
A tp#r B.% R Cefi+ DrLj
Ans: B
12. ZRp AT G BB sk ?
Ans: %= ¥
13. Please answer in English: Who is the author of 4 Christmas Carol?
Ans: Charles Dickens
14. Spell the past tense of the verb ‘freeze’.
Ans: froze
15. Multiple Choice Question: Which of the following is not a verb?
A. Care B. Dare C. Hare D. Share
Ans: C
16, E/IL-APT P AA32 o f SRR LY A4k -
A iR B. %% C. /T D. ¥ %
Ans: B
17. EH AL - 717 vRfEp o 7 A :}ﬁai 51 3% 6?7

A RS Rk 2 R) B. &k C. %%

e

D. & 35
Ans: A
18. {4t Fk & ien pb> TRIEL  Kip > FHEE A

Ans: =  i“ B

P3G 30 &



19. 10T 5 FIES §BAT A o WP SRR R irihr A2

Ans: 759 -5 &l

20. B FT- Hp A R 0 L=
o R EESY L LAR

Ans: 53 B E /B F 2 Ed

21 @AW T EEGAR 50 THGe 9
"Ppre FUZF A2 - pRed AREHI L EL ST EL o
Ans : » B

22, EFM - TEE - FPANT oF R GG B o
TR - T A R ERE o
A L A% B.#:# ~ 3@ Cgl# -~ ## DAEF -~ #F
Ans: B

230 3B 0T st

P+22+3°+4° =1

24, BTt - BERMER L TER AR CEEMTR, BT S IR I EFRAF > SR

Ans: ISIS/ IS

25. BT TR AY (T Temep ) S ARG R 3N o R ERRY
Ans: FRi% 2>

26. WP TR ST hEX R LEAR?

Ans: Interstellar

A

o

B

z
g

e
=+ !

A

2

|

I



2. Fpifpm s 2 rufd P SRAF P EFERFVH TAdFLZT 2 RFIF A2

2o T/ 65%

28. 13202 % %5 i fie?
Ans: 8

29. Bif- A BEAFIHEFTE AR ARIIPNE DX HANEFT 0 FR G EE A IR 2 F

A R ISR

Ans: =% /MiE 4 /5 EEC

30. T RIAIR - B R B 7
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A e AR A B)
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Rl B A B R B2 4 R4 RS Ao
Ans: 20

Spell the plural of 'quiz'.

Ans:QUIZZES
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10.

EEA - O o LR 22

Ay B §

Ans: A

BET- BRR A F RS2 R ARETR

Ans: A FE i A

Fa gk REFOBLH TF FLER AR T DD R IE?

Ans: P! 3R

FRFAXFLENT8314A% 02017 & A P REARED - BRELAR TR L

HLELREEd 50 A mR?
Ans: 1200 4

BT
2+4+6+...+18+20 =7

Ans: 110

English question: Spell the past tense of 'begin'.

Ans: BEGAN
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Ans:
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